25C1162

1)V NPN IEXF> 7V

HITACHI

| BE
o A EE IR
® 2SA7I5 VT YR EZYRT
| NERX
TO-126 MOD
‘| 1. Emitter
2. Collector
1 3. Base
23
o ¢
Hitach? 2
semiconductor -



2SC1162

X B K EAR
(Ta=25%C)
bi=]=| Fas=1 2SC1162 HBifif
aLI % « RN—REFE Veeo 35 v
aLy2 -y RERE Veeo 35 \
ISy -~N—REE Veso 5 \
ALY RER e 2.5 A
HATEILY 2 EFR e 3 A
FARIL Y 2EKX Pc 0.75 W
P 10 w

SERE Tj 150 °C
REFRE Tstg ~55~+150 °C

Gx] 1. T, =25CIcBITBEAE

(Ta=25%C)
HE s Min | Typ | Max | Bifi AE S

ALY 42 « N—AWIEEE Vericeo 35 - - Vo llg=1mA, =0
a9 %« T2y 2IEERE V griceo 35 - - Vo g =10mA, Ry = o0
IZyR - N—AWPEEE Vereso 5 — | — |V lg=1mA, I =0
ALY 2 ERER leso - — | 20 BA [V =35V, 1.=0
EREREEER hee' 60 — | 320 Ve =2V, I.=0.5A
ERERIEiEER hee 20 — | — Ve =2V, I, =1.5A (Pulse Test)
R—Z ISV REE Ve — | 093] 15| V |V, =2V, I, =1.5A (Pulse Test)
ALY A% « Ty REBANMEE Veesan — | 05 1.0 V |l = 2A, I;=0.2A (Pulse Test)
FiSHIEETR fr — | 180 — | MHz|V =2V, I.=0.2A

(] 1. 28C1162 IE hDIEICK Y FEDELSICIXAL, BRAICKRRLTHYET,

B C D

60~120 100~200 | 160~320
2. b 2 REUERFICHIFBERICK > THRET NS,




2SC1162

Collector power dissipation P (W)

Maximum Collector Dissipation Curve
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Collector Current I (A)

Typical Transfer Characteristics
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